

GRADE 5 – MODULE 2:  PARENT GUIDE

Multi-Digit Whole Number and Decimal Fraction Operations

Each day in class, we do practice sets. Attached are the answer keys to the Practice Sets from this module.  These answer keys can be used to refresh your child’s memory of work we did together in class and help you support your child with the math homework.  There is a footer at the end of each answer key that tells you the lesson number.  This lesson number corresponds with the lesson number on the homework sheets.  
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 28 Problem Set

Jim Nasium is building a tree house for his two daughters. He cuts 12 pieces of wood froma board that is
128 inches long. He cuts 5 pieces that measure 15.75 inches each, and 7 pieces evenly cut from what is
left. Jim calculates that due to the width of his cutting blade, he will lose a total of 2 inches of wood after

making all of the cuts. What is the length of each of the seven pieces?

128 675

3.

TS 125
wood {1575 6"5]'\93‘3\_6;1‘ s Tl P 7%2—.._.
' 52
8.1 12.6.00 % -9
X 2 -_T8.75_ y
B 3725 35

TLTS+ 2 + Tunits= 128 Eackof the T prces
Tunitss 47.25 I's 615 I;lc}zgs /0,37.

lunit = (.75

4. Aload of bricks is twice as heavy as a load of sticks. The total weight of 4 loads of bricks and 4 loads of
sticks is 771 kilograms. What is the total weight of 1 load of bricks and 3 loads of sticks?
6425

bricks S | ,2_1:77;{’0‘5‘ . é‘/:;
s-héks - 77! 5 221,25
s
? 30
- 2 .
2 unts = 77| ba | z ZO'
funtt= (425 kf] el
Bunits= (425 X5 o
= 321,25
The wClﬁl'ff of bvick [oad
ond 2 shek fpads s
321.25 [(_3
Lesson 28: Salve division word problems involving multi-digit division with
I ES%MON 1 pate: g;(;l;;/)lsaize unknown and the number of groups unknown. engag_eny 2H.10

3 This work is licensed under a
Creative Commons Attribution:NonCommercial-ShareAlike 3.0 Unported License.

© 2013 Common Care, inc. Some nghts reserved COMMTIONCOre.ong [D)sy-ncsa
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NYS COMMON CORE MATHENATICS CURRICLLUN Lesson 29

3. Theareaof arectangle s $6.96 m.  the langtn s L5m, what s it periater?

(srAe
o
i3
eo
P=7 /3
= {
Pe(smnations) ©
- 747t 32, The pevimeter of the
T sz Yeciangle /s 36.12m.
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fands=480

length v Bunifs = e
wiitth = i = aom

A=120X 50 The aren of” dhe block.

T ) .
108 %100 s 1Qgogsquare mefers,
- 10,800
I sgumeon | Ao e e s o engage™





image3.png
NYS COMMON CORE MATHEMATICS CURRICULUM

. Rioley told his mom that multiplying whole numbers by multiples of 10 was easy because you just count
zeros in the factors and put them in the product. He used these two examples to explain his strategy.

7000 x 600 = 4.200,000 800 x 700 = 560,000
(3 zeros) (2 zeros) (5 zeros) (2 zeros) {2 zeros) {4 zeros)

a. Ripley's mom said his strategy won't atways work. Why not? Give an example.

This strategy went always work becauce itdepends on the
factors that YOU’/‘G Mulﬁplyn% For example :

HOOX S00 = 200,000, n ki this exampk,
(Zzems) (zzwg (5‘%ems) T+ doesnt workin thic

because 4)(5 20,50 the paduct will have en extm zero
.
3 Th&onwémn s&Hw\h Falls &m&ﬁ%ﬂt‘%o’g 000 gallons per second. How many gailons of

water flow over the falls in 1 minute?

b unit = 600,000 gallons

60 units= 600,000 X 60 = 36,000,000 gallons

36,000,000 gallons of water will Flow over +he fzlls in 1 minute,

. Tickets to a baseball game are $20 for an adult and $15 for a student. A school buys tickets for 45 adults
and 600 students. Haw much money,will the school spend for the tickets?

—dshire Ny
Adult [f2of#20] - .. 3 $20X 1S =4 900 00

20j ++ 9000

boo.Eifteens 5
student 4,;?;,5;,:’0, : Tis] * 1SX boo=49,000
The school will spend $4,900 for +he Hickets.

COMMON | Lesson1: Multiply muiti-digit whole numbers and and muitiples of 10 using

CORE i place value patterns and the distributive and associative properties.G5- engage y};ﬁ.{?ﬁ

M2-TA-L1
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1.

Round the factors to estimate the products.

a 597x52 = _ 600 x_ 50 = 36,000

A reasonable estimate for 597 x 52 is ,50,00Q .

b. 1103x59 = __lovo x 60 = 601000

A reasonable estimate for W03x 54 is__ { io ,000 .

boop_ x__ 25

c. 5840x25

u

= 150,000

A reasonable estimate for 5840 x 25 is, !50, 000 .

2. Complete the table using your understanding of place value and knowledge of rounding to estimate the
product.
Factors Rounded factors Estimate
a. 2,809x42 3000 x 40 120,000
b. 28,090x420 30,000 KH#00  |12,000,000
c. 8932x59 4,000X 60 540,000
d. 89tensx 63 tens qoo)(600 5401 000
e. 398 hundreds x 52 tens 40,000 X §00 20,000,000

COMMON | Lesson2z: Estimate multi-dight products by rounding factors to a basic fact
CORE and using place value patterns.G5-M2-TA-L2
Nata: L7417

engage™
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NYS COMMON CORE MATHEMATICS CURRICULUM
estimate? Explain how vou know.

21477 %1217

=20,000 X 1000

2146x 12 21467 x 121
=2000K/0 =20,000%00
= 20,000 £2,000,000 X = 20,000,000
+h mes 1 2N al 10 2 hundnel-
4. Fillin thzé migg;v(:?eécfo;?m t%r‘d the given estir:gtg prelduct ’PJ 'H\MN\A_C.
a s7xaz=  HOD x 40 = 24,000
o0  -90000

Too ~

b. 726 x674=

c. 8379x541= g,OOO x SO0 = 4000000

5. There are 19,763 tickets available for a New York Knicks home game. if there are 41 home gamesin a

season, about how many tickets are available for all the Knicks” home games?

19,763 X 3| 23 20,000X 40 = o600 0
There were about 800,000 Hickets available for all the. Knicks’

.

home dames.

6. Michael saves $423 dollars a month for college.

a. About how much monev would he have saved after 4 vears?

Bx12= 48 moaths
$U23 X 4§ = #4400 x50 = $20,000
He, would hawe Saved about $20,000 affer 4 years,
b.  Will vour estimate be lower or higher than the actual amount Michael will save? How do vou know?
I hink my eshimate was lower than the achial amout Michael
will save, becaute T tounded ¥423 o $loo. But . round
43 4o S0, T-Hhink my eshmate of $25,000 is feal l\/ close. o e decfua amoutt
engage"’ zawn

COMMON | tesson2: Estimate multi-digit products by rounding factors to a basic fact
CORE | ~ and using place value patterns.G5-M2-TA-L2
Rata: <43
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Name Chinq Date
J

1. Draw a model. Then write the numerical expressions.

a. The sum of 8 and 7, doubled b. 4 times the sum of 14 and 26

Bl

g+7 ‘|++26

(8+7) X2 B X (1++26)

c. 3times the difference between 37.5 and 24.5 d. The sum of 3 sixteens and 2 nines

L 6T1611619]9
——

31s5-24.§
(Gx16)+ (2%9)
3X (37.6-24.5)
e. The difference between 4 twenty-fives and 3 f. Triple the sum of 33 and 27

twenty-fives

[25 ] 28 {25 | 25

—
2
25 |25 5 33 +27

(4x2S)— (3%25) ! (33X27) %3

l COMMON Lesson 3: Write and interpret numerical expressions and connect to a visual

CORE model.G5-M2-TB-L3 engage ny

Nata« </24/12
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2. Write the numerical expressions in words.

Expression Words The Value of the
Expression

124imes the sum of 5and 25 360
11 fimes the difference behween 6200di2 550

23 Himes the Sum of U5 ond 55 2,300

a. 12x(5+25)

b, (62-12)x11

jal

(45+55)x 23

o

. (30x2)+(8x2)

the sum of 3o-wos and 8 s 75

3. Compare the two expressions using >, <, or =. In the space beneath each pair of expressions, explain how
you can compare without calculating. Draw a model if it helps you.

a. 24x(20+5) @ (20 +5) x 12

THs ﬂmr-ﬂm becauce Hy, left side shows Z‘EijPS UF(ZO1!'S>)
but the ridt side only hag|izgroups of (20+S),

b. 18x27 @ 20 twenty-sevens minus 1 twenty-seven

B less than because +Hhe left side. shows 1% +wenty-Sevens, and
the right side shows 19 -twenty-sevens,

c. 19x9 @ 3 nineteens, tripled
1jari i raleg | 191091 1) dlali | [dle Wl

Pﬁ% M—

19X ¢

Both sides are eual They're bath 1 groups of ¢.

Lesson 3: Write and interpret numerical expressions and connect to a visual

e engage™

Matar &/24/12

I COMMON
CORE
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4. Mr. Huynh wrote the sum of 7 fifteens and 38 fifteens on the board.

a. Drawa mod7el and write the correct expression.
: flgﬁﬂs

\ieTisTis]- -~ [15] :
E}? (Tx15) + (38X1S)

R Dsjli' lsll o
~——

5. Two students wrote the Tol owin{:, numerical expressions.
Angeline: (7 + 15) x (38 + 15)
MeiLing: 15 x (7 + 38)

Are the students’ answers equivalent to your answer in part {a)? Explain vour answer.

Hr%flina’s answer was equivalent o my answer, but net Meilings.
Meils

g’ expression showed 1S Hfimes the sum of T and 34,

6. A box'contains 24 oranges. Mr. Lee ordered 8 boxes for his store and 12 boxes for his restaurant.
a. Write an expression to show how to find the total number of oranges ordered.

(20%8) + (24K 12) ok Z4x(§+12) oR (24X20)

b. Next week, Mr. Lee wili both doubie the number of boxes he orders. Write a new expression to
represent the number of oranges in next week’s order.

((zuxg)+(z4xt?.))x2 R (24x20) X2

c. Evaluate your expression from part b to find the total number of oranges ordered in both weeks.

Week 13 (24 X20) = 480 . gg
Week 2: (2Hx20)x2 = 960

Mr. Lee odered 14O oranges in both weeks.

' COMMON ! Lesson 3: Write and interpret numericat expressions and connect to a visual

CORE | modet.G5-M2-TB-L3 engage ny

Nata: K/A/172

2.8.9
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Name - J-ason Date

1. Circle each expression that is not equivalent to the expression in bold.

a. 16x29
29 sixteens 16 x(30-1) (10 x 29) — (6 x 29)
b. 38x45

(38+40)x (38+5) (38 x40)+ (38 5) 45 thirty-eights

c. 74x59

74 % (50 +9) 74 x(60—-1) (74 x 5) + (74 x 9) 59 seventy-fours

2. Solve using mental math. Draw a tape diagram and fill in the blanks to show your thinking. The first one
was done for you.

a. 19x25= \ l twenty-fives b. 24x11= “ twenty-fours

25 |25 |25 25 i ._Bw“‘

1 2 3 .. 10 20 [wlzﬂzﬂ = z.tﬂ

ohroas L hentvfou

Think: 20 twenty-fives — 1 twenty-five. Think: IO twenty fours +_‘__twenty four

=20 x5 (1 o = 10 x24 sl x2

- 500 - 25 - 41§

= 240 + Z"+ = 26L[-

I COMMON [ Lesson 4: Convert numerical expressions into unit form as a mental strategy

CORE i for multi-digit multiplication.G5-M2-TB-L4 eng' a_g' eny 287

MNatas /94712
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c. 79x14= z 2 fourteens d. 21x75=_ 2] seventy-fives
$0-fourteens 2! fM/g'v-FW
- ) B
(Y 2 O R (). HEIEED i3]
— B L
19 fourfeens zolonaty s 1.seventvdives

Think: _gg fourteens — 1 fourteen Think: 2_0 seventy-fives + _’_seventy~ﬁves

= (R0 xiy-( L xih = (20 x75)+(_)_x75)

- 120 - - 110k 1500 .« 7S - 157§

3. Define the unit in word form and complete the sequence of problems as was done in Problem Set 2.
a. 19x15=19 _ b. 14x15= 14

e

20 1

\sTshsi.-- s’y U 1 OO 3 - E Y,
- Fifteens ¥

H N2
‘Think:Zoﬁ"fQﬂs_—l_‘Eﬂem__ Think: 10 ﬁHEeAs +4 -Fiﬁeens
= @ox_15 j-1x_ 18 ) {10% 15 )+ ax_1S )

- 300 -_15 . 28¢

C. 25x12= lz:h&egiy_-_ﬂuL d. 18x17- 18_Seventeens
2 0 Severtpens
@zsgsl J2S]25) iw?nim inﬁ
~r%

"

150 . 4o - 210

T T 13 sevenesns
Think: 10 ves +2 Mﬁm Think: 20 Seventeay- 2 _Seventaens
= (10x_25 )+(2x_ 25 ) = @ox 1T y-@x 17 !
- 250 +_50 - 300 | - _3% - 3% - 306 |
l %S%MON i Lesson &: :I(f)rn;e;:\é:;}r;f;i:j]lﬁ;lpcx;s‘;r:‘zss‘\’r;\t/‘zfx;\;Lf;)rmasamentahtrategy engageny

Patas 8198717





image11.png
4. How can 14 x 50 help you find 14 x 49?

Cnee T ind 50 fourteens, T. can Sutact 1 fourteen and it will
giveme 49 fourteens.

5. Solve mentally.

a. 101x15 15)5

(100 WIS+ (1 XISD

b. 18x99 1782

=(100% 1§)- (1 XI®)

6. Saleem says 45 x 32 is the same as (45 x 3) + (45 x 2). Explain Saleem’s error using words, numbers and

pictures.

' 22 ETE EF] EER 1321 [sTs] 5]

YSX32 = 45 thirty-twos SIS S s
RS e

(us3)+(usx2) = 45 fives
They are notthe same hecaute ¥ Hicly-hwos does not equal Ho 45 fves.

a. Write an expression to show how many newspapers Edward will deliver in 29 days.

(T4 +126) % 29

|
|
|
7. Juandelivers 174 newspapers every day. Edward delivers 126 more newspapers each day than Juan.

b. Use mental math to solve. Show your thinking.

Tfestalded 1M and 126 o get 300. Then T
mutiplied 300tmes 29 4o get §700.

I COMMON | Lessona: Convert numerical expressions into unit form as a mental strategy

CORE | for multi-digit multiplication. G5-M2-Te-L4 eng'a_geny

Rata: %7802
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Betty saved $161.a month. She saved $141 less cach month than Jack. Mow much wi sack save in 2

vears? 314

ety +wit= 432
Jack 2 uiks= 3022l = $7,288

Ha1 i =$302
Tack will save $7,248 n 2 years.

Farmer Brawn feeds 12.1 kg of alflfa to each o his 2 horses daily. How many kiograms of ¥aita wl all
s horses have eaten after 21 davs? Draw an area madel (o save.

242
2. +12.0 =242k ke ) .2

x 21
! wit= 242 ¥g 2 & T2k2

21 uiits= 242 X 21 t4E 4o

Fre o
=50p2kg 5082

Allof his horses will have eaten $08.2 Kg of alfalfa
after 21 days.

COMMON M, engage™
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4. General admicsion to The Amarican Muceum of Matural History is S19,

A, If a groun of 125 students visits the musenm. how much will the groun’s tickets cost?

) unit = ﬂq "Z“qs

=125 x19=%2378 X
126 units = 128 X 5 —,—I%——

+1280
2375
Tha groups +lc)<d'$ w:l l COS'/’ 3 Z,37S

ional 54 per student, what is the new total

frite an exnression rhnr <hnw< hr\w vou calculated the new price

128

(19+%) X128 % 23
=23 X128 375
=2,87S 42500
2875

cnst of ;m the rlrl(etc v

The. vew otal Cost of all Hhe Hickefs will be 2,975,

rogerty to partial

: k R n
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Name TY'Q \/‘ S ' Date

1. Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial
products from the area model to the partial products in the algorithm.

a. 481 x352
Cdeo s | 481
L‘ 600 !.bo qbz_ X 3 5 2
50| 20000 Moo 50 74,050 > b7
3 ‘ltzovoo \zuoo. l%sw\;%os p
00 ) + afgg;()
\ | T>IgTE T

P .

A
- - S . SR———

| ba3 ! <
b. 481 x302
o0 0 \
00 |wo | 2| a2 481
X 302
200 |22900 24000 [200] | H Y, 200 >> 962
\ | ot (44300
t 4526 2

c. Both problem 1(a) and 1(b) have 3-digit multipliers. Why are there three partial products in 1(a) and
only two partial products in 1(b)?

Siece there \s q zeve in +He ‘l‘éns place N U>>
We C\OY\"‘ need o Sectiown l.y\ e red’ahﬁ\e, g:r tens.

The whole value can e shown with Susﬁ"
wnbreds ond ones .

C O M M ON ' Lesson 7: Connect area diagrams and the distributive property to partial
I products of the standard algorithm (3x3, 4x3 including reasoning l'ly
CORE ! about equations with a zero in the multiplier.G5-M2-TB-L7 (Eric’s engage v~2ﬂ.§.9m
version fr 5.13.13)
© 2012 Common Core, Inc. All rights reserved. commoncore.org
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2. Solve by drawing the area model and using the standard algorithm.

a. 8401 x305
Boog oo |

-

5
+

300 |Leoe00 29000 {200 | 2., 520,00

|

— el ke MdL.L PN, - 3 -—‘M_

b. 7481 x 350

r 7000___“]5_.0 R0 l

50 | 25000 20000 |uvop

P, o o ot s - c—a--w L

Ly iy

300 [pee | F| 83

\")
N,

3. Solve using the standard algorithm.

a. 346 x 27

340
2.'7

2.’ 2%
te420
BCELYA
b. 1346 x 297
\24 6
_ﬁl
‘i

\
206 zoo

o

299,70 &

I COMMON I Lesson 7:

Date: 5/30/13

© 2012 Common Core, Inc. All rights reserved. commoncore.org

Hoooo 2000 E—\ H200 §

37H,050

8401

X 305

2005
95103 oY)

e et o —— - o—

2,5623 05

7481

X350
374050

22443 00
76 184350

c. 346 x 207 34(
% zo'r

;412
T (69200

7!(022.

d. 1346 x 207
34 b
X 207
‘———t—-s.,”
4z 2
T 2-(9 200

2_7‘3(02_?_

Connect area diagrams and the distributive property to partial
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4. A school district purchased 615 new laptops for their mobile labs. Each computer cost $409. What's the
total cost for all of the laptops?

!5

X 409 TThe laptees cost $251,535.
535

‘TZL} OCﬂO

—-— ey~
o ——

g
2515 35
S. A publisher prints 1,512 copies of a book in each print run. If they print 305 runs, how many books will be
e Looo 500 10 2

\5‘2. 5 | 5ee0

X 305
— B0 |30

1560
t 153600

4onleo

Hel, 160 boplcs
Will be Pr;m‘l‘tﬁl

6. As of the 2010 census, there were 3,669 people living in Marlboro, New York. Brooklyn, New York has
681 times as many people. How many more people live in Brooklyn than in Marlboro?

Skl z,wqg, %89
X bS] — 3, 6

e

[ “—— . Cmren

3609 74914,920

: ’20
3 5
%-OT oo 2,144,920 |
R T ) ! more Pgo?c

g %q 8’ 5 5 Q li've Broo\dojn Han
er \ boro .

C O M M ON Lesson 7: Connect area diagrams and the distributive property to partial
I products of the standard algorithm (3x3, 4x3 including reasoning ny
CORE about equations with a zero in the multiplier.G5-M2-TB-L7 (Eric's engage 28_11 _
version fr 5.13.13)
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Each container halds 11275 mL of water. How much water is i 609 identical cantainers? Find the

dB"'h\m;az laoomx“éoo ! %Zx\ﬂ-. 1215 mixéod 6L Hrs el
=720,600ml =776, 475 m| ;’f}oj,,ﬁ: l
=720) = 7L 15l CYNDL

My ackual product was sgL s, ]qgerﬁwx +he. eshinded ?rcéud‘_

A cl bl some maney 1o purchase new chairs. After buying 355 chairs at 199 each, there vias $1068

. o T 194 orges
Uy .— % - + ' 068
355 ks =H XSS =4T0,645 e B
2 50 71,713
+ (22

o445
The, club had #71,713 befire Purthasing new Chairs.

5o far, Carmeia s cabected 14 boxes of baseball cards. Each box has 315 cards . Carmela
‘estimates that she has about 3000 €75, 5 she buys & slbums that ol 500 cards e2ch

& Wil he slbums have nough spaceforalof et cards?, Why opuhy nct?
She wont Pave. Gnigh Foorm fof Al hee Cands i e alburs She bougrt: Canmella
DR s S s e e
. S e s
5”\%‘: hfd;,‘gﬁmuwmulﬁu Fhe ﬂwnb:l agtuxu %.%‘VC,
b How many cards does Carmell have? 2300 X 1S = 4, 5p0 woenld hoye beern
i< a betfer estimate. in s SiMaion,
2SR =b jp %L
#4758 Gl ackally ha il Gards
13122 Camella ackally has L 410 Carcs.
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Name _ R idleu " Date
J

Solve.
1. An office space in New York City measures 48 feet by 56 feet. If it sells for $565 per square foot, what is

2485 The offree space

the total cost of the office space?

SLft st
X497 X 565 costs $1518720 .
| 344e
4p5r 41 Je] 280
12240 /344 000

26869 515770

Gemma and Leah are both jewelry makers. Gemma made 106 beaded necklaces. Leah made 39 more

2.
necklaces than Gemma.
a. Each necklace they make has exactly 104 beads on it. How many beads did both girls use altogether
while making their necklaces?
Gemmer's reckiaces -“*'1 x 104
Leah's reckinces [~ 7,y | [ b
106 145 1,024 .
x lod x lott + 18080 The girls used 26,104 beadls
+ 0400 lg?;oo 25,/'0 y7] a.ﬁbgdhcr
o2 -]
b. /At a rece{\ °craft fair, Gemma sold each of her necklaces for $14. Leah sold each of her necklaces for
10 dollars more. Who made more money at the craft fair? How much more? 2 i8]
Lexnh made. $1,99% more. 106 M5 173
’ X /¥ x24 - 14 7‘1’
424 590
1855 2330 #19%
480
3. Peng bought 26 treadmills for her new fitness center at $1334 each. Then she bought 19 stationary bikes
for $749 each. How much did she spend on her new equipment? Write an expression, and then solve.
153y 749 34 684
=2
X_ 26 %19 spp23 P9 spert 34895,
+t26680 t 7490 4
——
34684 1423
Lesson 9: Fluently multiply multi-digit whole numbers using the standard
[ SOMMON | =™ LI engage™
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3. Use the whole number product and place value reasoning to place the decimal point in the second
product. Explain how you know.
a If98x768=75264 then 98x7.68=_752-b%

7. 68 would be like 768 (hmdrzdﬂrs) se J'uSILd/'W.t/e éj req

b. 1f73x1,563=114,099 then 73x1563=_//940-792
s 15 The same as /563 /tundrzdﬂw So Hhe nombers N///

be the same. bt r't WIl/bc 706 S ézje

¢ If46x1,239=56994 then 46x123.9= 5 699 %
this one /5 1 Tenfhs, o just Wit #hie samee drgir's
but awide ég /0.

4. Jenny buys 22 pens that cost $1.15 each and 15 markers that cost $2.05 each. How much will Jenny

spend?
/5 2.05 25.30
K2z . x /5 +30.75 u(mnj /e Sftlw(
Z30 /025 i{)’b o 5 #56
+ 2300 . 2950 25

‘*2530 ?"50 5

S. Aliving room measures 24 ft by 15 ft. An adjacent square dining room measures 13 feet on each side. If
carpet costs $6.98 per square foot, what is the total cost to put carpet in both rooms?

24
1% 360
ot 69

15| 300 \bqﬁ"lw( 13 527

J

6.9%

24 /3
Soa A s

20

#2360 Ha /3769
300 —74,7 7399002 .
F369242
COMMON | o anto s whel nomber roim and ressoning ot the
I COAR/}EM | pate: :l/azcle/rrsentofthezelcimal. " g 2bo enga_geny

R This work Is licensed under
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% car/cnl both reems.

2.C.22





image27.png
e ___Chavisly

e she g the s it Yooy o an o e .

T T IV

o o i e

T v
e s 30 = 30
LT x58
24¢ A8

Z5 333

I




image28.png
NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 12 Problem Set

e. 7.06x28 7X Bpo =z, f. 632x223 & X 200 = JZo0

7.06 ¢.32
x 7% Xzz3
5628 /8596
+12120 _ /2040
~5T t/2¢e%400
/97.6 %
740935 .
8 706x208 7x Zoo =/#20 h. 15146555 200 X 600 = (24020 .
7.06 5/ L6
X 207 | L/_Qézi,
5648 75730
+41200 757300
AR r 1573000

7

Y Ef=]
Denise walks on the beach every afternoon. In the month 6fJuIy shgwalked 3.45 miles each day. How

far did Denise walk during the month of July?
7 Do e 10695 il v T,
w035
T0695

3.

A gallon of gas costs $4.34. Greg puts 12 gallons of gas in his car. He has a 50-doltar bill. Tell how much
money Greg will have left, or how much more money he needs. Show all your calculations.

A 4'/5‘; I+ eosts $52.08 Br the 2as. é/ﬁ need
T 565 P
+4 340 $2.08 more.
5Zo08
5. Seth drinks a glass of orange juice every day that contains 0.6 grams of Vitamin C. He eats a serving of

strawberries for snack after school every day which contains 0.35 grams of Vitamin C. How many grams
of Vitamin C does Seth consume in 3 weeks?

0.6 1 0.35= 0.95

Seth conswmes /7, 755 o #
0.95 ) ; .
Y 27 vitamie C ix 3 weeks.
— ?g._
r/P00
7?2.95
COMMON Lesson 12: Reason about Fhe product of 2 whole nurr'lber anda fiecir.nal with
ll CORE pater 27;:;;;('15 using place value understanding and estimation. engage ny 2.C.31
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Name GY‘I"F‘CI V'\ : Date

1. Complete the chart below with the measurement equivalents.

2. Explain how to convert feet to inches. Draw a number line or tape diagram to support your explanation.

mu\'\'\'elj 1+ L 2 4 cac'Y iv\chcs

\

|r—(7—u'n= 1210 12iin ., \ +—t4—>
oo \ 2 =X 4 S

3. Explain how to convert meters to centimeters. Draw a number line or tape diagram to support your

explanation. :
W\u.\'\"le\'j meters X (co 4o 36Jr e
| lchm.‘ \o'Ocm{ LoOwm | l
: | A
m D \ 2 3
COMMON | Lesson13: Use whole number multiplication to express equivalent n
I CORE ’ measurements.G5-M2-TD-L13 engage y
Date: 5/29/13

© 2012 Common Core, Inc. Al rights reserved. commoncore.org

feet inches centimeters meters
’ 2 . .
. A 2o :
3 3 4s
3b 2o <12
. q¢g “oo . ——:ﬁro_—
- 120 \ cocs ” *so
(o}
- | uy \ 20 = S4
40 L{- Y0 Acoo 40
o 540 UZoo -
120 14u o \1‘000 120
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4. Convert. Use your Reference Sheet to remind you of the conversion factors. Show your work.

a. 27ft= 34 in d. 7kg=700¢g g. 3km8sm=385m
z7 # 55
X2 7X fo00 Bx07§
5
_,tZ—Z.g«
324
b. zéioz=54lb e. 4mi.=___yd=__  ft h. 2qt.=ipt=ﬁﬂoz
54 7,0%0yd 2,120 X2 X
X7 /72
324 S
—t571. o X7MO____
gL 7 27,1720
¢ 42 o-nq f. 9000 L=9kL i, 397 0z=24b150z
X7 - X 1000 2 jgg
X6 . ¥+ /7

Léng 377
3%

S. Emily’s pet snake is 5 feet long. Kristen’s snake is 50 inches long. Kristen says her snake is much longer
because 50 is so much bigger than 5. Is Kristen right? Why or why not?

Kyisfen is M/ronj. Em//q S snake /S yop /{»37 Tus#
because the number 1S é/'gger esn’t mreart ;75 maore.

fjou have 1o thimnk. abort +he vnit Feo.

6. Ben helps his dad make chicken soup. Their recipe makes 15 cups of soup. If they each eat 2 cups and
freeze the rest, will the leftovers fit in a 64-ounce container?

I5c—dc=Gc [t T Goz =77 oy
No, the leffovers won-1+

COM MON 1 Lesson 13: Use whole number multiplication to express equivalent ny
measurements.
oo™ ... oo engage"’ om0

This work is licensed under a
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Name E ll’éabe‘H«

Date

1. Convert. Use your reference sheet to help you remember the conversion factors.

a. 45km= 4500 m d. 8.25g=8250 mg g 0.5 mi =&b40s. R280
X o8B
i SRR
26400
b _2Z fLoz=275¢ e 325gal=_l3 aqt h. 7.9m = 790 _cm
2 15 3.25
X 8 > A
21200 2.5 0
4850  mi=4.85l f. 3R pt.=165qt. i. 12 _oz.=45Ib.
165 4.5
X 2 X 16
BT i
25,0
33.0 t450
~9Z.0
2. Cassidy figured out that she makes $0.75 every minute at her job. She works 7 hours 15 minutes every
day.

a. How many minutes does she work in 4 days?
ld‘j —:77hrs KOO = 420mw + \Smin = U35 W\.\v\
% -4

s ——
17 490 min

VA0 min w 4 da:ﬁs %

b. How much will Cassidy earn in 4 days?

05 Ommn X © .15 —'"“'\5 per heor

X 60 .
""{Bf 45 I Bmmn $2\5.60
| X Thrs xoTS + W3S
o o .
o ‘;5 32625 (‘.cea;\djemns
10650 A A4 $\205.00 \n
$1,25 Ny
1205.00 4 da\ss-
I 88AR/}EMON } ﬁ:;—t;“ l:ls‘:d:jlmal multiplication to express equivalent measurements.G5- engageny 2.D.7
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3. Emma can’t believe how huge the Statue of Liberty is. She finds more information about Lady Liberty.
Help Emma fill in the rest of the chart and then answer the questions.

The Statue of CUSTOMARY UNITS METRIC UNITS
Liberty’s Feet Inches Meters Centimeters
I
nose 4ft6in 54 in 1.37m /37em
index finger gft 1% 6 tn 2.44m 24 4 e
head 17ft3in 207 1w 5.26 m 5206 0
eye 2ft6in 30 tn 0.76m 76 em

Source: http://www.nps.gov/stli/historyculture/statue-statistics.htm

a. Emmais 52 inches tall. Which of Lady Liberty’s body parts above is the closest to Emma’s height?
What is the difference between these two measurements in inches?

The nose s the elsest- T+ 1's 7 juches /orrjc/:

b. Emma’s eye is 4 cm wide. How many of Emma’s eyes lined up end to end would it take to stretch all

the way across one ¢of lady Liberty’s eyes?
7& 7é_ T Ma/ﬂ/ 7&& /7 a)c EMma fg
I eyes /2 srefch a.cn:sslad?

3, Libertys eye.

¢. The length of Emma’s neighborhood block is 0.19 km. About how many of the statue’s heads would it
take to cover the length of her block?

0. l9m = /PO0m 5.2c5

5120 Adout 38 heads woakl
40 be needed 7o cover+he block.

d. Measured in meters, Lady Liberty’s index finger is 4 times as long as Emma’s leg. What is the length

of Emma’s leg in meters?2.44m
LLs finger [I% 2444 =06/

Enma’s /ej /s &‘/m/mj,

I COMMON ‘ Lesson 14: Use decimal multiplication to express equivalent measurements.

CORE | Date: 6/21/13 engage W 02

This work s licensed under a
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Name M addie

Solve.
1

Date

Liza’s cat had six kittens! When Liza and her brother weigh all the kittens together, they weigh 4 pounds
2 ounces. Since all the kittens are about the same size, how many ounces does each kitten weigh?

‘-\&5201
kittens [TT T 1 [ 7 s e
o
bunits = oz GA0ZE t202 =bboz

lunit= | oz

Each kitten uocléhcd obout Loz,

2. Holly is buying orange juice for the class party. There are 24 people coming, and she figures each person
will drink 1.75 cups.

a. How many fluid ounces of juice will she need?

LTS5 e
B A2eups
- X_B oz
(o : g

4260 330 oz Holly nueds 336 oz OFJu\ct
420 ooaps
b. If she buys five 59-ounce containers, will she have enough juice?

59 oz
R 1 Y h h i

N

o =y She wo ousre. cnoua Juuct

3. Josie is 1.4 meters tall. Her sister is 54 cm shorter.
a. Find her sister’s height in meters.

(. 4m= | 23’% 8 Cm = D-Bbm
= D enn . < %
—~6—'2 g Josw's sister is 08bm tall.
b. How tall are Josie and her sister combined, in meters?

.40
+ 0.80
_,'———“
220

The ststers ave 2. 20 ol a\’mg}’(hm

I COMMON i Lesson 15: Solve two-step word problems involving measurement and multi-

CORE | digit multiplication.G5-M2-TD-L15 engage ny 2.0.8
Date: 5/29/13
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Lesson 15 Problem Set

4. A crane operator unloaded the following cargo:
L]

S pallets of lumber. Each pallet weighs 7.3 tons.
9 pallets of concrete. Each pallet weighs 4.8 tons.

a. How many pounds of cargo were unloaded?

7.3 4.8 365
X 3. X 4732
365 Jas of lumbtr G377 fons of conerete 79,7 s
K2

159,94 X100
159400 peurds

were untoaded
b. Which load of cargo was heavier, the lumber or the concrete? How many pounds heavier?

432X Z.X 600 = §b.4X 1000 = 4,400 /bs
3b.5X 2 X ooz 73X re00 = 73,000 lbs

/34¢0/5

The Concrete was
/3,400 [ bs lreavier.

S. A punch recipe calls for 2 quarts of ginger ale, 3 pints of orange juice, 2 pints of pineapple juice, 1 cup of
lemon juice, and 3 ounces of lime juice. Edna plans to make a double-recipe. How many fluid ounces will
there be in a double-recipe of punch?

—"L ka'fCh H
Zgfs= zx 5Z oz = 64oz
5P7‘3= 5x Jpoz = 8002
lc = IxS§oz = Foz -
;‘55 ' There are 3/0 0z (n
oz

r Z  deuble repe O /amcé.
"3/0 02

-

I COMMON j Lesson 15: Solve two-step word problems involving measurement and
multi-digit multiplication.
CORE ! Date: 6/21/13

© 2013 Common Core, Inc. Some rights reserved. comimoncore.org

engageny 2.0.33
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6. Use the table below to answer the questions that follow.

TOWN OF WAPPINGERS FALLS
Distances from Akun’s House
Location Distance
Cibo Deli 2.5 miles
W.F. Library 15,840 feet
Elementary School 5,280 yards
Youth Ball Field 1 mile 880 yards

a. If Akun travels from his house to the Youth Ball Field and back, how many miles did he travel?
| mile 880 vjo\s X2 = Zmiles \7@050\5 = 2 piles

%80 ,369
X2
m Akun travels 3miles .

b. Which 2 locations are equidistant from Akun’s house?

o 260 ‘oc\rd S
3

A TThe i Iorcmj <4 c\emcr\-b\rj sc\ioo)
\5840 M are same distance from Akun's

Novse

c. 3 days a week Akun walks to school. After school the bus drops him off at the Library to do his
homework. He then walks home afterwards. How far, in feet, does Akun walk on those 3 days?

15840ft X 3 Yo scneol 15,8406
15,8408 % 3 From \\'bmnj % @
=
Qs o
Aun walks as ouost
on Yhese 3 dmjs,

COM MON ‘ Lesson 15: Solve two-step word problems involving measurement and multi- ny
CORE | digit multiplication.G5-M2-TD-L15 engag‘e 2.D.10
Date: 5/29/13 T
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NYS COMMON CORE MATHEMATICS CURRICULUM.

Tien

1. Divide. Draw number disks to show your thinking for {a} and {c}. You may draw disks on your white
board to solve the others if necessary

a. 500+10 b. 360+10
—Io =326 |
:36

e 12 000 + 100 d. 450,000+ 100

o:;%@ﬁ Eypey
=4 So0 !

Name Date

e. 700,000 = 1,000 f. 530,000 + 100
=700~ | =5,300~ |
=700 =5,300

2. Divide. The first one is done for you.

a. 12,000+30 b. 12,000+ 300 ¢ 12,000+ 3000
=12,000:10+3 =12,000~100+ 3 :12,000":1000":3
=1200+3 =120~<3 =12<3
= 400 =40 =)

d. 560,000+ 70

e. 560,000+ 700

f. 560,000 + 7000

=560,000~ (0 <7 | =5B0,000% (00T | =560,600%]000%7
=$6,000 X7 =5,600>7 =560 7
=% 000 = 800 =80

Lesson 16: Use divide by 10 patterns for multi-digit whole number division.

COMMON ! Date:
CORE |

1 2013 Conunon Core, ine. SaIme BENVS (S581VE0, SOMMONZore.org

6/22/133:27 PM
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E

g. 28,000+40 h. 450,000 + 500 i. 810,000 + 9,000
=28000 X10XH  |=4s0,000% (00%S | =F10,000~ l000 <7 !
=2,800 > 4 =i, 500 =S =810 +9 ’
=700 =900 =90 l
I
|

3. The floor of a rectangular banquet hall has an area of 3600 m®. The length is 90 m.
a. What's the width of the banquet hall?

om 360090
?@ =360+ 109
. =360+9

=4om
The width of the banguet Aall was 4om.

b. Asquare banquet hall has the same area, What is its length?

6%X6=36
?{ A=3om* Loxbo =3,600

The legth of the banquet hal| wias éom.

c. Athird rectangular banquet hall has a perimeter of 3600m. What is the width if the length is 5 times
the width? 3800

l { 2 Hﬂ;‘B :3/600

|

| - lunit = 3600 /
T g, e
The width of +he banquet hall wag 300m.

Lesson 16: Use divide by 10 patterns for mukti-digit whole number division.
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4. Two fifth graders solved 400,000 divided by 800. Carter said the answer is 500, while Kim said the answer
is 5000,
a. Who has the correct answer? Explain your thinking.

400,000\-‘: 30(? Carter was Correct because as it
=H0p,000<100 % & showed on Hhe lact S‘}CP) htousand

=4,000 < & Sivided by & i
y & is egual 1 & hundrads,
=500 ot S Fhousande,

b.  What if the problem is 4,000,000 divided by 8,000. What is the quotient?

X, 000,000 <8000

=4, 000,000 < |,000 ~ &

=4 000 X8
=500

The Quotient was Soo.

tesson16:  Use divide by 10 patterns for multi-digit whole number division
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1. Estimate the quotient for the following problems. Round the divisor first.

a. 609+21 b, 913+29 c. 826+37
~ 600+ 20 . 90 . 30 - Bo0 - 40
=30 - 30 - 20

d. 141:73 e. 241358 182 + 62

. 24p . 60

.

h. 799+99

- &0 -_loo

Lesson 17:
Date:

JB: SQumon
% CORE ‘

2013 Comnon Core, ine. Same Aights reserved, sommoncere.org

Use basic facts to approximate quotients with two-digit divisors.

6/22/13

oy

This work i ficensed under

engage"’  ze7





image40.png
R

L NYSCOMMON CORE MATHEMATICS CURRICULUM | Lesson 17 Problem Set o0

m. 525+25 n. 552+85 0. 66711
._600 . 30 . Sho .90 . 600 . 10
- 20 .6 6

2. Avideo game store has a budget of $825 and would like to purchase new video games. If each video
game costs $41, estimate the total number of video games the store can purchase with their budget.
Explain your thinking.

T eshimaled $225 divided L}/ il 4o be #§pp S H0,a0a
9ot 20. This means Hhat he shre can purchase @ ufal
of 20 video qantes with their )mcge'f'_

3. Jackson estimated 637 + 78 as 640 = 80. He reasoned that 64 tens divided by 8 tens should be 8 tens. Is
Jackson’s reasoning correct? If so, explain why. If not, explain a correct solution.

637 <18 Jackson's reasning was intorrect beayge
nbhox80  bhdens Jivided by Bens is equal o
=¢ & ones, not & Hens . The correct Soltion

.
is &ones,
. . Lesson17: Use basic facts to approximate guotients with two-digit divisors.
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1. Estimate the quotient for the following problems. The first one is done for you.

a. 5738+21 b. 2,659:28 c. 9,155+ 34
= 6,000 + 20 - 3000 30 - 9,000. 30
=300 = IOO = 300

d. 1,463 53 e. 2,525:64 f. 2,271+72
- Ls00 - 50 - 2,400 - 60 - 2,000 - 10
- 30 - 40 - 3

g 4,901+75 h. 8515 +81 i. 8515+:89
- 4.800 . &0 - Booo:- %0 - &loo- 9o
. 40 -_loo - 90

j. 3,925:68 k. 5,124:81 . 4,945:93
- 3,500- 10 - 4800 . &0 - 4. 90

m. 5,397+94 n. 6,918+ 86 o. 2,806+15
St 9o - 6300 . 90 . 2,000 20
- b0 -_10 - 100

COMMON | pate:
CORE

© 2013 Common Core, Inc. Same nghts reserved commancare.ong
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2. Aswimming pool requires 672 ft* of floor space. The length of the swimming pool is 32 ft. Estimate the

width of the swimming pool. N
T 672x32
&0+ 30

=2
The eshimated wié-?h of +he swi mm?né Pool was 208+,

3. Janice bought 28 apps for her phone that, altogether used 1348 M space.
a. if each app used the same amount of space, about how many MB of memory did each app use?

Show how you estimated. ],3‘+g -\\-28
1,200 30
=ho
Each app used about 40 MB of momery,

b. If half of the apps were free and the other half were $1.99 each, about how much did she spend?
28~ 2=k apps Mhx $1.99
24 x42
= _#2 g
She spent about #28.

4. A quart of paint covers about 85 square feet. About how many quarts would you need to cover a fence

38178
a3,600x90
=40
Tt would need about 4o quarts o cover the fence.

5. Peggy has saved $9,215. If she is paid $45 an hour, about how many hours did she work?

9,215 L 48

with an area of 3,817 square feet?

22 8,000 40
=200
She wocked about Zoo hours.
tesson 18: Use basic facts to approximate quotients with two-digit divisors.
i COMMON ate:
BB EgRVON [ o engage"Y
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1. Divide, then check. The first one is done for you.

a, 41+30 Check:
1 R11
3044 1 30x1=30
3 0
11 30+11=41
b. 80+30

30/ 80 30X2= 40
60+20= %0

c. 71+50

I R2]
$0) 71 SOX (=50

=50 So+2) =71
21

d. 270+30

9

30)270 30x9=27p

-270
0

e. 643+80

R3
$0/643 oX &= 640

A a3

Lesson 19: Divide two- and three-digit dividends by multiples of 10 with singie-
digit quotients and make connections to a written method.
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f. 215+90

2 R3S
/215 dox%2 = 190

—3 I80+35=2IS
2. Terry says the solution to 299 + 40 is 6 R59. His work is shown below. Explain Terry’s error in thinking
and then find the correct quotient using the space on the right.

J— 7 Checl.:
4 0[279 9 _
240 ~280 4oxT=280

19 28+9=299

Terry used 6qmups of 40 and gt 24o. But there was
atemainder of 59, which Means Fhat he could make £
more Gaup of 4o. The orrect Guotieat Shuld be 7 with o remainder

3. A number divided by 80 has a quotient of 7 with 4 as a remainder. Find the number. O’F ,q .

T R4 -
s b g X 7= 560
80/ 7 560 +4 = S64

The number was SE4# .

4. While swimming a 2 km race, Adam changes from breaststroke to butterfly every 200 m. How many
times did he switch strokes during the first half of the race?

2K¥m= 2000m

< of 2000m= l0oom
lovo ~200= 5
He switched strokes & Himes dun‘% +he Firet half of Hhe mee.

Lesson 19: Divide two- and three-digit dividends by multiples of 10 with single-

32 COMMON | digit quotients and make connections to a written method. n
| RO A B | engage™ s

© 2013 Common Core, Inc Some rghts resesved, commoncare.org T [ ok eensed undera .
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1. Divide, then check with multiplication. The first one is done for you.
a. 65+17 d. 84+32

Z R20
"3 pig Check: 32/ g}+ 327(2:64_

17x3=51

1 7 fsi i 51+14=65 ____é_ﬁ'_ 64+20281‘\L
20

14

b. 49+21 e. 77+25

2 R7 3 R2
2|) ‘+‘? 21x2= 42 25) :777 25x3=7S
-—%— Yo+7=49 ~1s S42=77

c. 78+39 f. 68+17

2
3978 Jxo=7 17)68 TR =
)_7§) UL 4=i3
0

s Lesson 20: Divide two- and three-digit dividends by two-digit divisors with
I % COMMON | single-digit quotients and make connections to a written method

) n
* CORE | pate: §/22/136:30 PM engage y
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2. When dividing 82 by 43, Linda estimated the quotient would be 2. Examine Linda’s work and explain
what she needs to do next. On the right, show how you would solve the problem.

Linda’s estimation: I l Linda’s work: I l Your work: |

2 2 I R¥

4 3|8 2
4 08 0 4 3|8 2
-8 43

??
39

Linda’s esimation of &0+L40=2 wag oK. 8ut when she éiv»c‘&:&

che ealized that #+3x2=94. She tn't take. away 86 from £2.
Ttshuld be £9aup of 43, The quotient is L with aremainder of 39

3. A number divided by 43 has a quotient of 3 with 28 as a remainder. Find the number. Show your work.

3 R2& 43 129

The number was 157.

4. Write another division problem that has a quotient of 3 and a remainder of 28.
3 R2g <2 156 2-R28
?)7 4> X3 +28 —PsJl&y

Ay
Ts& T8y ——i%

184 Jivided by $2 is eualfo 3 with a remainder of 28,

5. Mrs. Silverstein sold 91 cupcakes at a food fair. The cupcakes were sold in boxes of “a baker’s dozen”,
which is 13. She sold all the cupcakes at $15 per box. How much money did she receive?

| unt=$1S
I3 gl Tunts = 15X 7= $105
-]

— 0o
ghe received #105.

Lesson 20: Divide two- and three-digit dividends by two-digit divisors with
" { COMMON \ single-digit quotients and make connections to a written method. ny
* CORE | Date: 6/22/136:30 PM1 engage _2F9
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1. Fillin the blanks using your knowledge of place value units and basic facts.

a. 23x20 d. 410x400
Think: 23 ones x 2 tens = i 4’ tens 41 tens x 4 hundreds = 164 iho USamds
Bx20=__ 460 a10x400=_\b',000

b. 230x20 e. 3310x300
Think: 23 tens x 2 tens = _Hb hUﬂd'ldS ﬂtens x_3 _hundreds
230x20=_4, P20 =993 _+thovsands

3310x300=_993,000

c. 41x4
41 ones x4 ones = 164 __ OV)€S f. 500 x 600
41x4 = lQ‘_{ 5 hundreds x (P hundreds

-30_+en-thovsounds
500x 600 = 300, 000

2. Determine if these equations are true or false. Defend your answer using your knowledge of place value
and the commutative, associative and/or distributive properties.

a. 6tens=2tensx3tens Fnlse, because 2tens x 3tens = 6 hundreds or G0,
20X 36 =600

b. 44x20x10=440x2
False. Thesc aren'tequal. T can rewwife HuUx 105440 and #40X20 # Y4ox 2.

¢. 86 ones x 90 hundreds = 86 ones x 900 tens

True, because. F0Aundreds 15equal 1o WOTns which equal o the valve of 3po°-

d. 64X8x100=640><8x1'0
Truee T can rewrife the problem 4 be 8Xe#x100 =8x et0x10

CALXI00 15 cqua/'/b Lyo X 10.

Oh 1h 40 | Llessoni: Multiply multi-digit whole numbers and multiples of 10 using place

C N ! value patterns and the distributive and associative properties. ny 2.A.10

CORE engage A
Date: 6/21/13
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1. Divide, then check using multiplication. The first one is done for you.

a. 258+47 Check:
s T Z R23 47 x5=235
-235 235+23=258
2 3
b, 148+67
6T ))345 Xz 4 14
- 134 n
IF 48
c. 591+73

& R7

7359

~-58 4
-

d. 759+94

U/759
-752

—

R7

e. 653+74

T4/653

-592

&1
Il Sgpmon | 7

713 s8l
X 8§ + T

sgy 591

u  7s2
g + T

752 159

592
Xxg T 61i

$92 4653

Divide two- and three-digit dividends by two-digit divisors with
single ~digit quotients and make connections to a written method.

6/22/12
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-252 3
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2. Generate and solve at least one more division problem with the same quotient and remainder as
the one below. Explain your thought process.

2
1z o7
- 96
1\
In order Yo have |\ as o.*remo..'mc\u, 1 means Tt
The Aivviser has 4= e wmore than Il. P‘sa\%d 2.
\2x82=9L and Qb +1l = 107,

3. Assume that Mrs. Giang's car travels 14 miles on each gallon of gas. if she travels to visit her niece who

(%
LI}
N

v joe

o N
LY

lives 133 miles away, how many gallons of gas will Mrs. Giang need to make the round trip?

123 ¥ 123= 266 miles )_ﬁ_

2467147 19 gallons AT
Mrs. Griang needs 14 ga\ows _P;‘_é'
of qas fo Wake the round rip.  — &

4. Louis brings 79 pencils to school. After he gives each of his 15 classmates an equal number of pencils, he

will give any leftover pencils to his teacher. 5 R “l
15)19
a. How many pencils will Louis’ teacher receive? -5
=

Lows’ Feacker veceived 1
\"\, PQJ\C;\\S.

b. If Louis decides instead to take an equal share of the pencils along with his classmates, will his teacher
receive more pencils or fewer pencils? Show your thinking. \_l R 5

Hﬂ9 '\'QCLC\'\GA* fecer yed - 6 |15-Y*= I

IS re penals
\\' more 9@,(\0\\5 yere p
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1. Divide, then check using multiplication. The first one is done for you.
a. 580+17

Check:
3 4 R2 34 x17=578
1 7!5 8 0
s 1 578 +2 =580
7 0
6 8

b. 730+32 2 RZé 32 _(0,+

c. 940+28 2

100
d. 553+23 -3 ig_é_o_‘

- 2 T2 “cg3
e. 70446 - 480
m 5§52

46— 0‘-{- 6 46

2l 2
-2,3‘;‘; +4 &0

—T% 630,

Lesson 22: Divide three- and four-digit dividends by two-digit divisors resulting

o}
c
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T +&00

e o0

2. Halle solved 664 + 48 below, and got a quotient of 13 remainder 40. How could she use her work below
1o solve 659 + 48 without redoing the work? Explain your thinking.

13

48 eé i 4%259
22 4 179
14 4 - 1y

4 0 3C

Since the whole oF 659 is S less than Hhe original whole of 864 . T means
%‘:.;emg};oj of a rercinder of 40, i+ should Eﬁ 35, The quotient of
659 Jwdled by 48 is 13 with aremdinder of 3<.

3. 27 students are learning to make balloon animals. There are 172 balloons to be shared equally among
the students.
a. How many balloons are left over after sharing them equally?

é

21172

~162
1o

10 balloons were left over affer S}\Miﬂﬁ them equally.,
b. if each student needs 7 balloons, how many more balloons are needed? Expiain how you know.

21 189
— 172

X1 —172

129 17
17 mofe ballopg were needed 1n order for each studet o have 7 halloons.
271 g0ups of T is eal o 189, They dlready hare 172 189-172= 17,

Lesson22: Divide three- and four-digit dividends by two-digit divisors resulting
in two- and three-digit quotients reasoning about the

. COMMON n
l decomposition of successive remainder in each place value. eng' ag e y _2F8
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2. M. Riy bakee 1,692 chocalare cookies. -2 sol thern in bokes of 36 caokios each. How much maney

T e .
. 137 %ﬁﬂf 41 x8=3820+56 =370
et g
e 152
252
[}

Ve Riley olested $576.

3. 2,092 flowers are acranged Into 26 vases, with e same oumber of flowers i each vase. How ruany
flowers would be needed to il 130 such vases?

1°92. 4z
ze[10972 120
104 x 4L
T x|, 20
w52, *5Z00_
© E4fp0

Sl Flowers weald be needed 4 1/ 130 varses.

4 Tre elephants watar 1ank holds 2,560 gallans Sf water. Aer 2 weeks, he zackeepar measures snd finds
thatthe tank only has 1234 gaions of water lef. If he elephant drinks the same amount of water each

oy, how oy v it l kot waterlst __s8.
e e e kg gk et e 5 147620 45[7560 4 2560
56

i
: > L s225 <25

water HILEY I Al il

@Eﬂ::j ez £ s

2 ! ¢ he 3

B To wo o -

The fonke witl last 37 days, .

Lo i e, kg iy e i o ki

s o et et e ny
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2 57x2x10x10x10=570x2x10

False. T Can rewrite the problem

ATICS CURRICULUM

o be S7x 2% l0oo onthe leff Side.

STX 2X1000 # S70X 2% 10-

. Find the products. Show your thinking. The fist row gives some ideas for showing your thinking.

5 7xs 7x50
-6 g3x10
=630

b 4sx3 asx30

=)35  =I35X10
=1350

¢ axs  40x50

=700 =20X00
=2,000

o mexz  Tisoxa
Zlyzp 136100
= 143,600

COMMON | tessont: Mty mt-dstwhole mumbers and and il of 0 sng ny
CORE 1 engage'

Bace o prerns and he Gt and TSGR PrOpETES 5

M2TALL

70%90 70%500
= (7x10)x (9% 10) =(7x9) x (10x 100)

xa1x 100 =300
26300
450x30 450300

Z(sKOX(3x10) = (4sx3)x(i0x100)
= (45X3)K100 =)35,000
=13500

a0x500 4005000
=(x)(SKI0)  =QHxs)X (100X 1002)
=(4%$)x 1000 =20% [0goOO

= 20,000 =2,000,000
N 7150052000
=(TgriX(2xioe) = (TIx2)x (100X 1000)

=(T18%2) K(tox log)| = W43 X 100,000
— 436 % 1000 ‘_ 143,600, 000

= 1,436,000
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2. Use place value reasoning and the first quotient 1o compuie the second quotient. Explain your thought
process.

. 465:5=93 Cep . .
a =50 i the same a5 5 +then — 0. So \f

465+50= 093 yow divide e Nt answer bj = you
32:\' 0o Second one.

b. 051+3=0.17

+30=_0.01 : : ‘
051:30=_ 0.6 @« gy 2 35 (0.5\73).*10 FoNTTio= 0.617

c. 294 +70=042 S ansue \)L: e—\-ke\ﬁ‘u.)\no\-e_. a.—“d

200:7=_0. 42 whe Alpiser are "“5‘ as

| +%
Ok o arqe as rs

d. 13.6+40=0.34 oo 2,
The c\\g\*s ase the Same but 13.67Yy=
136+4=_3.4 g
LTt =3,
3. 20 polar bears live at the zoo. In four weeks, they eat 9,732.8 pounds of food altogether. Assuming each
bear is fed the same amount of food, how much food is used to feed one bear for a week? Round_your
ansger:to Ehe nearest pound. y : 7;3 ;‘ 24332 + %20 = (l‘f 332+0)7Tb ¢
) . ) —
212423.2 -8 1216.6 T10=
-2 [}
o4 - le 12\.66
. N 12 .
o3 -2 About 122, 1bs of foed is
_:,15’ 2
A2 L $ed Yo | bear Lor one week.
._/Ti"‘ . 0%

4. The total weight of 30 bags of flour and 4 gags of sugar is 42.6 kg. If each bag of sugar weighs 0.75 kg,
what is the weight of each bag of flour?

\ o \ .} H?_.Q,Ki

Clowr Sugar 42.6 Each bag ok
015 -_30 Llour \udj\fls
i ..__%_o—c-f/kﬂsuﬁwf 39.6 lBZ. KS.

(3L+3)0=132 710 = 132





image55.png
NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 25 Problem Set

Name C/‘AY "541'0?1'\?4" ’ Date

1. Estimate the quotients.

i

a 324:82~ 370 hundredths T80 = M pendredtis = 0.04

b. 361.2:61~ 3LO+60 = (
¢ 715:31% 6+ 30 =((o?"3 02 27/0= 0.2
d. 852:31~ 40730 =3
e 2797:28% D9 Q= 7z
2. Estimate the quotient in (a). Use your estimated quotient to estimate (b) and {c).
a. 716+36= § +40 =(\/¢S’7’» {{),—'—/0: 2,{-/0:‘0.2,
b. 716+36~ foo ~40 = 26

c 716+36~ $0740=2,

Lesson 25: Use basic facts to approximate decimal quotients with two digit
I COMMON | divisors reasoning about the placement of the decimal point. ny
CORE | pate: 6/22/13 engage 267
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il

3. Edward bikes the same route to and from schoot each day. Affer 28 school days, he bikes a total distance
of 389.2 miles,

a. Estimate how many miles he bikes in one ay.

390 30 = 309010V 53 =39 43

3

Fward bikes abeut 13 mikes qdaj-

ittake himto

b If Edward continues his routine of biking to school, about how days altogether
reach a total distance of 500 miles?

560+ 13
#4504 15 =30 214 it take abovi 90 days
N0 12 = 4D 45 veachr Soo miles

4. Xavier goes to the store with $40. He spends $38.60 an 13 bags of popeorn.

3. About how much does 2 bag of papcom cost?

386013y 39+ /0= 39
tre hag cests abost #5190

b.Does he have enough money for another bag? Use your estimate to explain your answer.

No, Xavier enlty has $140 1t ang 41 popeorn
cests was mere -than 1hat fir a bog.
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3. The weight of 72 identical marbles Is 183.6 grams. What is the weight of each marble? Explain how you
know the decimal point of your quatient s placed reasonably.

e Each marble weighs 2.55 arams.
/Zm?'“‘s This mokes sense‘abgcu.usc 183577
B i5 obout 180760 which is 3,
)
£

4. Cameron wants to measure the length of his classroom using his foot as a length unit. His teacher tells
him the length of the classroom Is 23 meters. Cameron steps across the classroom heel to toe and finds

that it takes him 92 steps. How long is Cameron’s foot in meters?
2.

a2 —4\230 Cameron's Jeot 15 6,25 longy.
410

“&C
—©

5. Ablue rope is three times a5 long as a red rope. A green rope is 5 times a5 long as the blue rope. If
the total length of the three ropes s 508.25 meters, what i the length of the blue rope?

bwe TITVE? The blue rept
red 508.2.% is B0.25m lor.
oen (FT L TE LT 1]

$18 2073
Cunits= 5o8.2% 1a58.25 3
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3. Whatis the length of a reclangle whose width is 17 inches and whose area is S82.25 in?
“the lenath of Ha vecungte
is 3425 mehes.

7

A soccer coach sgent $167 dollar on 74 pars af sacks for his playars. 40w much di five pats of Socks
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b 75 &7
24enot x5 Eve pois o sock
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